| dE/dx estimator 1 |

—_— T Entries 45406
0'4: : Mean 2.103
= Std Dev 1.716
O.35H bt rreetbeense |
C : Entries 44912
C Mean 2.137
0.3 i Std Dev 1.702
o I Entries 44912
0-25:'"";' """""""""""""""""""""""" Mean 2.137
C : Std Dev 1.702
0] S O SR S . |
r : Entries 44912
r : Mean 2.137
0,15 i ettt Std Dev 1.702
O e i 0 SACCCt ST RN SRS S SO
0.05F it b
OJ_.\'O_”:i”::||||||||!||‘—5 I !' !"'_ JJ:...
= 3 : : j : : : : :
@© r : : PO I 0 I I O e :
x L ++ =LAT L] s | &
et Hir -l 4 SRR O ) I ) N NG Y VRN A U AP A
I 5 TTECTEAT #1170
1 wﬁ : E < : E E
_+ : : : -"F-n- Tl :
0.95
1 2 3 4 5 6 7 8 9 10

dE/dx, harm?2

| dE/dx estimator 2 |

—_— T Entries 45406
0'4: Mean 2.015
= Std Dev 1.674
O R R S ST b |
C Entries 44912
r Mean 2.046
0.3 i Std Dev 1.661
u Entries 44912
0.25 [ o Mean 2.046
C Std Dev 1.661
O G TN SRS e TSRS SO NS l
_ Entries 44912
r Mean 2.046
(O RSY (AR R EELL EREEE & e Rt LR R S Std Dev 1.661
0.1: ........................................................................
T e e S S S S
OJ--\.Q_ . 1 I I I 1111 11 1T . | . 11 1 i 11 JJ. Ll 1
= F : S IRiNIEE
© C : + : : : HEESE S
x 1= : + S 5 o B R i o O 4 B % B8 B ) SR R B
C : : : : : i :
- : AL ETUE |
0.95F R e I R R A H R R I
r +

0.9

1 2 3 45 6 7 8 9 10
dE/dx, trunc40

—=— DQM_CKF_SoftQCD

—e— DQM_mkFit_SoftQCD-updated

—— DQM_mkFit_SoftQCD-updated-newPLDNN

—+— DQM_mkFit_SoftQCD-updated-TTharDNN

____________________________________________ CTTaTeS FIFU0 CTIaTeS 45406
Mean 4.004 O | A A Mean 0.13

Std Dev 5.141 Std Dev 0.4186
.................................................. .| 0.8 ]
Entries 44912 Entries 44912

Mean 4.266 Mean 0.1492

"""""""""""""""""""""""""""" Std Dev 5.35 0.7 TR Std Dev 0.4547
____________________________________________ Entries 44912 0.6 ----i-rmrmsiereseesie i Entries 44912
Mean 4.266 Mean 0.1492

Std Dev 5.35 05 e et v ... .v] Std Dev 0.4547

Entries 44912 Entries 44912

Mean 4.266 0.4 i Mean 0.1492

""""""""""""""""""""""" Std Dev 5.35 Std Dev 0.4547
: 03 -------------------------------------------------------------------

............................................

............................................

10 20 30 40 50 60 70 80

dE/dx number of measurements

»O |
T T g

=
N
B

=
O-!-rg-c-

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


